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Section A (30 x 2 marks)

For each quesfion from 1 to 30, four options are given.-One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct ovail {1, 2, 3 or 4 } on the
Optical Answer Sheet (OAS) provided.

1. What characteristic does all mammals have?
(1) They can fly.
(2) They live on land.
{3) They suckle their young.

{(4) They give hirth to their young alive.

2. The table below shows the characterlstlcs of Organisms, A, B and C.
The tick (v'} indicates the presence of a charactenstlc

. Characteristics Organism A | OrganismB | Organism C
Respond to changes oo ' / v
Can reproduce v v v
Moves freely on its own v
Pr(;duce its own food v

Based on the information provided in the table above, which of the following is
correcily identified?

Organism A Organism B Organism C
(1) Coconut Tree | Mushroom Eagle
(2) Coconut Tree Eagle Mushroom
(35 - Mushroonr Eagie Coconut Tree
_('4)- - Eégle, - Coconut Tree Mushroom
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3. The graph below shows the change in the height of a plant over a period of time.

Height (cm)
A

0 ] % ) p, £ » Number of Days

After studying the graph, 3 pupils John, Sam and Peter each made a

statement as shown below:

John: The plant increases in height from Day 0 1o Day 2.
Sanm. There is no increase in height from Day 2 onwards.
Peter: The plant dies after two days.

Which of the pupils had made the correct conclusion(s)?
(1) John only

(2) Peter only
(3) John and Sam only

(4) Sam and Peter only




4. The diagram below shows a cross section of a pear.

Which part of the pear can develop info a new plant?

5. Study the living thing below.

The living thing above is not classified as an insect. Explain why?
. (1) It has an abdomen. : -

(2) It has a pair of feelers.
(3) it has more than six legs.

(4) It has a hard outer covering.
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6. The drawing below shows a part of a plant growing in a garden.

Based on the drawing, which of the following about this plant is correct?

(1) It has a strong stem.
(2) It is a flowering plant.
(3} It reproduces by seeds.

(4) It has sweet and juicy fruits.




7. The drawing below shows a leaf.

" In the classification chart below, which group should the leaf belong?

Leaves
] | |
Network veins Parallel veins
i !
nE | [ _ !
Jagged Edge Entire Edge Jagged Edge ‘ Entire Edge
(1) 2 1 (3) (4)




8. The dsagram below shows how water and food are transported to and from
different parts of a plant. °

Leaf W Leaf 7
Key:
foodi————
water--------- >

Which leaf correctly represents the movement of food and water in a piant?

(1) Leaf W
(2) Leaf X
(3) Leaf Y
(4) Leaf Z

9. Which of the following protects our lungs?

(1) Skull
(2) Ribcage
{3) Hip Bone

(4) Backbone




10.Look at the diagram below. |

Which of the following are the correct functions of the parts labelied X and Y7

.x_

Y

(1)

To allow food to travel from the
mouth to the stomach.

To absorb digested food to the
other parts of the body.

(2)

fungs.

To distribute food to the other To allow air to pass through the
parts of the body. lungs.

(3) | To allow more digestive juices to To absorb waier from digested
break down the food. food.

(4) | To allow air to pass through the To remove nutrients from the

body.

W




11.Sammi wanited to find out if thé number of leaves affects the amount of water

taken in by a plant. She set up the experiment as shown below.

Which of the two above setups should she use in order to conduct a fair test?

(1) Setup A and Setup B

(2) Setup B and Setup C

(3) Setup C and Setup D

(4) Setup A and Setup D

12.Study the classification table below.

Respiratory Skeletal system | Digestive system Circulatory
system system
lungs bones gutlet blood vessels
" nose muscles mouth heart

Which organ is placed in the wrong group?

(1) gullet
(2) lungs
(3) muscles

{4) blood vessels




13.The drawings below show two organisms.

Bird's nest fern Mushroom

Compare the two organisms above. Which of the following is true?

(1) Both organisms are green plants.
(2) Both organisms are flowering plants.
(3) Both organisms reproduce by spores.

{(4) Both organisms can make their own food.

-14. Which of the following are needed for plants to make food?

A: water -

B: éunlight

C: oxygen

‘D: carbon dioxide

(hAand Donly -
(2) B and C only
{3) A, B and D only

4 A B CandD



15. Which of the following is a system?
(1) A stapler e
{2) A toothpick
(3) A sheet of paper

(4) A piece of rock

16. The graph below shows the amount of undigested foed as it travels through the
human digestive system. ’

Amount of undigested food (grams)
F 3 . .

Ad

E F

» Time (hours)

/é « Which part of the graph represents the amount of undigested food in the

- stomach?

(1) AB
(2)CD
(3) DE
(@) EF

o




17.The pictures below show a goldfish and a parrot.

Based on the pictures above, which of the following is correct about them?

(1) They lay eggs.
(2) They have wings.
{3) The goldfish has gills and the parrot has lungs.

4 The goldfish has scales and the parrot has feathers.

18. Liﬁng placed a seed in a pot of moist éoil and put it in a dark cupboard for 5 days.
Which of the following graphs is most likely to show the change in height of the
seedling across the 5 days?

Height if seedling Height of seedling
. A

» Time (days) i + Time (days)

N (2)

Height of seedling - Height of seedling
A R §
\/ » Time (days) - Time (days)
(3 - (4) -
11

1Y



- 19.The diagram below shows a human digestive system. .

(1)

®

3

- In which of the labelied parts is digestion completed?

A2




20. The diagram below shows-a camera which is a complex system.

b2l

(1) PartA
Press button for
taking pictures

(3)Part G
Camera lens

(2) Part B
Button for selecting
camera function

(4) Part D
L abel of camera
brand

Which of the parts, when removed, wili not affect its function?

(1) Pari A
{2) Part B
(3) PartC
(4) PartD

13



21.Sam took a ruler and bent it as shown in the drawing below.

Which property of the ruler will he be able to find out from this experiment?

- (1) The texture of the material.
(2) The strength of the material,
{3) The flexibility of the material.

(4) The hardness of the material. _

22.There are four shirts made of different materials. Which shirt do you think is the
most comfortable to put on?

aétic
Shirt
4)

Shirt
(1)

14




23.Four magnets, W, X, Y and Z, are hanging from strings of different lengths from a
ceiling as shown inthe drawing below.

eiling

kL

A

Steel pins

Which magnet, W, X Y or Z, is the strongest magnet and which is the weakest

magnet?
strongest magnet weakest magnet
{1} w X
(2) Y X
) W Z
“4) Y z

15
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24.The drawing below shows what happens when a magnet was lifted after it was
allowed to touch the balls in a container. There are four types of balls as shown

below by their pattern and/or colour.

‘Which of the following shows the correct grouping of the balls in the container?

Barmagnet — |

~ Non-magnetic

(1) Magnetic
| ® ® O
(2) Magnetic_ Non-magnetic -
o & O
(3) Magnetic Non-magnetic
O @ O
“4) Magnetic Non-magnetic
oo O

18




25.Mary was given four different objects, P, @, R and S. She scratched the four
objects against each other. She then wrote down her observations as follows:

P could scratch R.
Q could scratch S.

Q could scratch P.
Based on her cbservations, which of the following is definitely correct?

(1) Ris harder than S.
(2) S is harder than P |
" (3) P is the hardest material.

{(4) Q is the hardest material.

26. Muthu wants to demagnetise a magnet. Which of the following methods can he
use?

A: Heating the magnet over a fire.

B: Passing electricity through the magnet.

C: Dropping the magnet several times from a height.

D: Stroking the magnet many times in the same direction with an iron nail.

(1) Aand C only
(2) Aand D only
{3) Band C only
(4)B and D oniy

47 | )



27.The diagram below shows a U-shaped magnet.

Cindy placed the magnet near 10 paper dlips and observed the number of paper
clips attracted to the various parts X, Y and Z of the magnet. She recorded on a
table the number of paper clips attracted at each part.

Which table below represents the number of paper clips aftracted at different
parts of the magnet?

(1)

-Parts labelled on magnet X _ Y Z

Number of paper clips 6 6 -8
2 ' -

@) Parts labelled on magnet X Y Z

Number of paper clips 6 0 6

) Parts labelled on magnet X Y Z

Number of paper clips 2 6 4

(4) [ Parts labelled on magnet X Y z

Number of paper clips 6 1 4

18




28.Mary placed 2 compasses beside each other.

Which pailr of compasses below shows the correct positions of compass needles
after they were placed beside each other.

(1)
’

(3) -

19
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29. Lily uses four bar magnets o carry out an expe'rifnent. The ‘diagram below shows
the greatest distance ‘d’ between the paper clips and each of the magnets at
‘which each magnet will attract the paper clips.

Magnet A

Magnet C

Magnet D

What can Lily conclude from her experiment?

(1) Magnet B is stronger than Magnet C.
(2) The magnets lose their magnetism when they are heated.
(3) Length of the magnet does not affect the strength of the magnet.

{4) Magnet A is the strongest magnet because it is the shortest magnet.

20




30. Study the classification table below.

Things

I

i

X Y
| l
paper clip swedater
staple eraser
iron nail marble
Which of the following correctly represents X and Y?
X Y
i) Hard Soft
(2) Flexible Stiff
(3) Sinks in water Floats on water
4) Magnetic objects Non-magnetic objects
End of Booklet A
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Section B (40 marks)

Write your answers to questions 31 to 44 in the spaces provided.

31. Study the classification chart below.

Animals
Group A Group B Group C
goldfish cockroach chicken
clownfish mosquito ostrich
guppy bat eagle

(a) Name the animal which is classified wrongly. Explain why it is not in the right
group. i1

(b) Which group can the whale be placed in? Explain why. 111

{c) Regroup the animals In group A into 2 smalfe.” groups 1 the classification
chart below. [1

Group A




32.The flow chart below shows how organisms A, B, C, D, E, and F are c¥assiﬁed.
Use the information from the flowchart to answer the questions below.

Doesitmake | vyeg Doesitlive | ves | Doesitfloat | veg
its own food? ” inapond? "1 onwater? >
No No
No L X
Cc B
Does it move | Yes Does it have hair | Yes
’ as its outer bedy » D

freely on its own? |

covering?
No
No
F Y
E

(a) Which group of living things can organism. A be classified under?

i

(b) State a difference between the organisms, E and F.

i1l

{c) Which of the following could the organisms, B, C, D and E, be? Wite the letter
[2]

representing the organism in the

table below.

Examples of organism

Organism

Spiny anteater

Staghorn’s fern

Hydrilla

Parrot




33. Kim wanis to find out if the location where the cheese is placed affects the growth
of mouid. She prepares several set-ups like the one shown below.

sealed plastic bag

{a) To ensure that Kim carries out a fair test, what are the conditions that she must
keep the same? Put a tick {v') in the box/es fo indicate that the conditions must
be kept the same. 1} -

Condition Tick (v}

The type of cheese used.

The place where the cheese is placed

{ The size of the plastic bag.

The amount of cheese used.

(b) Kim wants to speed up the growth of the mould on the cheese. State 2 things
she can do to the cheese to achieve the resuit. 11

0

.(ii)

() After 3 days, Kim.observed more gre::nish and yellowish patches on her
cheese. What characteristic of living 11ings is observed? [1]

—




34. The diagram below shows the human digestive system.

A
C:
A
(a) Identify the parts, A, B, G'and D in the diagram above. ' [2]
(b) What will happen if the part labelled C is missing from the system? 1]




35. The diagram below shows a plant.

(a) Which part of the plant, A, B, C, D or E, enables the plant to stand upright?

]

{b) What will happen to the plant if all part Bs are removed? . [1]

(c{What will happen to the plant if all part Es are cut off? Explain why. 1]
bl



36. The diagram below shows the skeletal system of an animal.

(a) State one reason why the skeletal system is important to the.animal. [l
(b) Identify the part, C. Explain why this part is imporiant o the animal. i1
(c) Which part is similar to the ribcage of the human skeletal system? 1




37. Ryan placad two similar stalks of celery, X and Y, into a beaker containing red-
. coloured water and pure water respectively as shown in the diagram below. The
stalks of celery were observed to be healthy after a few days.

---------- Wi .. ~Red-coloured

..... -3 Pure water

SRy # water TSR /1| S

....

Stalk X Stalkk Y

(a) What is the difference between the leaves of Stalk X and Stalk Y after 8
hours? ' 1

{b) Explain the difference in (a). 1]

£c) What does this experiment show about living things?

&3



38. Lily hung a 500g weight near the end of a metal rod and measured the distance,
* d, where the rod bent from its original position as shown in the diagram below.

Clamp to —
hold the rod . - §  wooden
in place Metal rod | mig:iginal .
table top | L~ position
— dcm
N T (distance)

i
1
1
i
1
]
b
]
t
;
1
i
1

Hl['l‘l'lilll'\l

500g weight

Lily repeated the experiment with different weights of 600g and 7009, and
‘recorded her resulis in the table below.

Weight | d em {distance)
5009 8cm '
600g 8.5 cm

700 g 9cm

(a) What can Lily conclude from the experiment regarding the distance, d, where
the metal rod bent, ang the weight? i

{b) Which property of the metal rod is Lily testing? [1]




30. Jon used three nails of different materials in an experiment. He allowed electricity

to pass through each nail.

: . . umini
t:7ttenes nic;zel nail 7aﬁen<s copper nail b?iene\s alu n;r;tlum
+;‘ HF—1 — i — H 4%
wire wire wire
(a) Which nail(s) will attract paper clips? 1]
11

{(b) Explain your answer in (a).

(c) State the condition that Jon changed in the experiment to ensure a fair test.

1

: 9.‘ R

o1



40. The diagram below shows three similar rings, X, Y, Z, each with a hole in the
centre. One of them is a wooden ring while the other two are ring magnets.

plastic stand

{2) Which ring, X, Y or Z, i_s the wooden one? 1]

(b) Explain your choice in'(a). o : . [1]

(c) Which of the following is another possible arrangement of the rings? Put a tick
(v} in the box. {11

10
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41. Tom set up an experiment as shown below.

] 1
string

retort stand %
magnet

paper clip

string

weight

r'

{a) When the pa;:}er clip was placed near the magnet as shown above, the paper
ciip remained suspended in the air. Explain why. {1]

{b) Tom shortened the string and this time the paper clip could not remain
suspended in the air. Explain why. [13

o
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42. Cindy stroked an iron nail with a bar magnet about 20 times in order to turn it info
a temporary magnet.

(a) Label the poles at each end of the nail and write ‘North’ and 'South’ in the
boxes provided in the diagram above. [11

Cindy had two bowls with equal number of paper clips in them. Then, she put a
bar magnet and a magnetised iron nail into the bowls respectively as shown in
the diagram below. She noticed that more paper clips were attracted to the bar
magnet than the iron nail.

iron nail
bar magnet
s  paperclip
A
== bow! — @é:ézé@
{(b) Explain Cindy's observation. [1]

(c) Suggest how Cindy could increase the magnetic strength of the iron nait using
only the above materiais, : [1]

12




43.

Fred had 3 bars, X, Y and Z. Their ends were labelled A and B, C and D and E
and F respectively. He put the ends of Bar X, Bar Y and Bar Z close to one
another as shown in the diagram below to find out if they would attract or repel

each other.

The table below shows the results of Fred's experiment.

Fé

R a—

(3

Bar X

BaryY

BarZ

Y
C D E F
Bar X A attract attract attract attract
- "B attract attract attract: attract
BarY C - _ - attract repel
D - - repel atiract

Rased on the information above, put a tick (¥} in the correct box 10 indicate if the
following statements are ‘True’, ‘False’ or ‘Not possible to tell’.

(2}

Statement True False Not
possible to
tell
(a) Bars X, Y and Z are magnets.
(b} Only Bars Y and Z-are magnets.
(c) Bar Y is made of jron.
(d) Bars X, Y and Z are made‘from
magnetic materials.
b

13




44. Siti used the method below to make an iron nail into an electromagnet. She then
placed the iron nail near some paper clips and recorded the number of paper clips
it attracted. She repeated the process by increasing the number of coils around

the iron nail.

batteries

PN

< T /jl
5]
>
=
o

(a) Complete the table below, which shows the number of paper clips attracted by,

- the iron nail with different number of coils.

[1]

Number of coils

15

20

25 -

30

Number of paper

N clips attracted

2

12

(b) What is the relationship between the.number of coils and the number of paper

clips attracted?

11]

(c) What must Siti do to the set-up in order to attract 15 paper clips?

i1]

End of Paper
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EXAM PAPER 2012
SCHOOL : TAO NAN PRIMARY SCHOOL

32a) Floating Plants.

SUBJECT : PRIMARY 3 - SCIENCE
TERM SA2
Booklet A
QL1021 0Q310Q4|105i06(Q7 [08(Q9{0Q10{Q1110Q12]013|Q14|Q15|{0Q16 '
.3 1{21.34{3|3]2}1]3]2]11]12]|(3]|3[3(1]2
Q17 | Q18 [ Q19020 | Q21 | Q22 | Q23| Q24 | 025 { Q26 | Q27 | Q28 | 029 | Q30|
4 1 4 4 3 2 4 4 4 1 4 2 3 4
31a) It is the bat. A bat is a mammal-and not an insect.
31b) A whale is a mammal so it cannot fit into any of the group.
31¢)
Group A
Lay eggs Gives birth to their
youngq alive
Gold fish
Guppy
Clownfish_ -

32b) Organism E moves freely on its own but organism F does not move freely on its own.

<

Al



Answer Key


32¢)

Examples of organism | Organism .
‘Spiny-anteater -
Staghorn's fern

Hydrilla
Parrot

miw | O

33a)

Condition Tick
The type of cheese used

The place where the cheese is placed
The size of the plastic bag

The amount of cheese used

<< =

33b) i) She could put the cheese in a warmer place.
ii) She could add water to the cheese.

33c) Living things grow.

34a) A: gullet
B: stomach
C: large intestine

D: small intestine

34b) No, the water can be removed from undigested food.

. 35a) Part C.
35b) The plant will not be able to make food and eventually wither and die.
35¢) The plant will eventually wither and die. It cannot absorb water and mineral saits from
the soil and the plant wiil not be able to stay upright. -
36a) It protects the delicate organs.
36b} Skull, It protects the brain.

36¢) Part F.

37a) Stalk X's leaves will become red but stalk Y’s leaves will remain the same colour.




37b) Stalk X absorb the red-coloured water and transport the red-coloured water to the
leaves but stalk Y absorbed pure water and transport the pure water to the leaves.

37c) Living things need water to survive.

38a) The heavier the weight, the further the metal rod will bend from the original position.

38b) She is testing the strength of the metal rod.

39a) The nickel nail.

39b) Nickel is a magnetic material so it can be a temporary magnet but copper and
aluminium are non-magnetic materials.

39¢) The material of the nail.

40a) Ring X
40b) Ring Z repelled ring Y.

40c)

v

41a) The paper dip is a magnetic material and it can be attracted by the magnet.

41b) It is too far from the magnet and the magnet could not attract the paper clip.

42a)

North South

42b) The bar magnet has a greater magnetism as compared to the iron nail.

42c) She could use the bar magnet and stroke the iron nail with a greater number of times.

33



43)

Statement

True False Not
possible
to-tell
(a) Bars X, Y and Z are magnets v
(b) Only bars Y and Z are magnets v
(c) Bar Y is made of iron v
(d) Bars X, Y and Z are made from magnetic materials v

44a) 5

44b) The greater number of coils of wire around the iron nail, the greater number of paper

clips that will be attracted to the iron nail.

44c) She must add more number of coils of wire around the iron nail to attract 15 paper

clips.
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